



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{3}{5}\right) + \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right) + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^0 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{3} =$$

$$\left(\frac{3}{4}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{2}{5}\right)^0 + \frac{3}{4} =$$

$$\left(\frac{3}{5}\right) + \frac{1}{4} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{2} = \frac{1}{16}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{6} = \frac{79}{150}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{2}{5} = \frac{77}{80}$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} = \left(-\frac{43}{80}\right)$$

$$\left(\frac{3}{5}\right) + \frac{1}{3} = \frac{14}{15}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{6} = \frac{5}{12}$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{29}{192}\right)$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{2} = \frac{123}{250}$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{3}{5}\right) = \frac{57}{320}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{6} = \left(-\frac{1}{18}\right)$$

$$\left(\frac{3}{5}\right)^2 + \frac{2}{5} = \frac{19}{25}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) = \frac{13}{20}$$

$$\left(\frac{3}{4}\right) + \frac{1}{2} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{5}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{2}\right) + \frac{1}{3} = \left(-\frac{1}{6}\right)$$

$$\left(\frac{3}{4}\right)^2 - \frac{3}{5} = \left(-\frac{3}{80}\right)$$

$$\left(-\frac{2}{5}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{3}{5}\right) + \frac{1}{4} = \frac{17}{20}$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} = \frac{4}{25}$$